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Due to the diverse and complex nature of managemant, successful managers should
pbossess a variety of which of the following skills?

arts and crafts

conceptual, human, and technical
analytical, athletic, and musical
conceptual, abstract, and human
technical, analytical, and conceptual

P oaUTa

Project managers manage
when the project is finished.

and give up their management responsibilities

vertically
diagenally
horizontally
competitors
nonhuman resources

0a00Tm

Managers may perform up teo ten different roles as part of their everyday job.
The roles are divided into three categories:

personal, private, and public.

interpersonal, informational, and decisional.
semiprivate, informatrional, and public.
interpersonal, informative, and interesting.
decisicnal, argumentative, and disruptive.

D onT o

The revelution in management thinking is caused by the

modern behavioral scientists.

chaotic environment and a shift in the way people think about organizations.
government and the environmentalists,

women's movement and the glass ceiling.

+ global peace movement.

[ D0 T T o

An example of a corporate culture can be seen in

&. an object; act, or event that conveys meaning te others.

b. manners, dress, stories, physical symbols, organizaticnal ceremonies, and
office layout.

¢. an association made of organizations with similar interests for the purpose
of influencing the environment, )

d. roles assumed by people and or departments that 1link and coordinate the
organization with key elements of the external ervironment.

€. an association of people gathered together to discuss areas of disagreement.

Power distance can be defined as

a. a preference for a tightly knit social framework.

b. a cultural preference for achievement.

c. the degree to which people accept inequality in power among institutiens,
organizations, and people.

d. the degree to which organizations exert power over people.

e. the degree to which people are comfortable standing next to other people.

Ethics can be more clearly understood when compared with behaviors governed by
the laws and by

free speech.
free press.
free choice.
free food.
free thought,
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Ethical dilemmas occur because

a. all legal and moral cbiigations have been fulfilled.

b. right and wrong can be clearly identified, yet it ispn't profitable either
way.

c. each choice or behavior is undesirable due to the possibility of a harmful
ethical conseguence.

d. an attempt is made for two wrongs to make a right.

e. right and wrong are clearly identifiable; each cholce or behavior is more
desirable due to the lack of any possible harmful ethical consequence.

is the process of initializing a business venture, organizing the
necessary resources, and assuming the necessary risks and rewards.

Intrapreneurship
Vanture capital
Entrepreneurship
Franchising
Resource maturity

mon o

"The belief by individuals that their future is within their control and that

external forces will have little influence is referred to as ain)

tolerance fLor ambiguity.
internal locus of control.
awareness of passing time.
external locus of control.
perscnal conflict,

o N oM

A is a unigque form of entrepreneurial company, which was previcusly
assoclated with and owes its start-up to another organization.

franchise
corporatien
partnership
spin-off
proprietorship

(1 s A T ]

There are different levels of the organization and therefore there should he
different levels of the planning process. What level of the organization should
be looking at the guesticn, "How to compete?"

Business level strateqgy
Corporate level strategy
Functlional level strategy
Personal level strategy
Industrywide level strategy

S e A ol o ]

The competitive model lists five competitive forces. Which of the following is
not part of the model?

potential new entrants
bargaining power of buyers
life cycle of your product
threat of substitute products
rivalry amcong competitors

o0 T

means that a decision has c¢lear-cut chjectives and that good
information is available, but the future outcomes associated with each
alternative are subkject to chance.

sureness
Uncertainty
Risk
Certainty
Ambiguity

T onom

means that people have limits, or boundaries, on how rational
they can be.

Bounded irrationality
Classical bureaucratic
Classical distinguished
Bounded rationality
Administrative bureaucracy

o anow
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Satisfying means that decision makers choose the solution alternative
that satisfies minimal decision criteria.

first
second
third
alternative
last

7200w

Which of the following 1is not an advantage of participative decision making?

More knrowledge, facts, and alternatives can be evaluated.

Broader perspective for problem definition and analysis.

Member satisfaction and support for decision.

Clear focus for decision responsibility.

All of the above are advantages of participative decision making.

T 000w

Despite the advantages of specialization, many organ.zations are moving away
from the principle. Many companies are jobs to provide greater
challenges and are even assigning teams to tasks so that employees can rotate
among several jobs performed by the team.

reducing
enlarging
speclallzing
eliminating
transferring

0T

is the applicaticn of behavioral science knowledge to improve an
ocrganization's health and effectiveness through its ability to cope with
environmental changes, impkove internal relationships and increase problem-
solving capacities.

Motivation

Organlzational development
Management psychology
Systems management

Time and motion studies

o000

The hiring or promoting of applicants based on criteria that are not job
relevant is referred to as

affirmative action.

equal employment opportunity.
minority preference.
discrimination.
employment-at-will.

D onoTe

refers to the relationship between one's score on a selection
device and one's future jcb performance,

Reliability
Validity
Application form
Assessment testing
Exit interview

o on o

Workforce diversity means the hiring and inclusion of people of human

qualities or who belong to various cultural groups.

the same

similar

identical

differant

analogous '

oAanNnow

The style in Hersey and Blanchard's situational theory is for
subordinates.

telling, high-readiness
telling, low-readiness
participating, high-readiness
partictpating, low-readiness
delegating, moderate-readiness
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In the path-goal theory, leaders increase their motivation by either
or

a. decreasing the subordinates' path to rewards, decreasing rewards that
subordinates value or desire

b. clarifying the subordinates' path to the rewards, increasing the rewards that
subordinates value or desire

c. telling suberdinates exactly what they are supposed to do, consulting with
nis or her subordinates about what to do

d. stressing higher quality performance, stressing improvement over current
performance

e. clarifying the subordinate’'s path to rewards, consulting with his or her
subordinates about what to do

When a union tries to improve wages and working conditions in order to be
consistent with a comparable union whose members make more money, it is using
the methed for reducing ineguity.

change outcomes

change inputs

distortion of perceptions of self
distortion of perceptlons of others
none , of the above

o e T e T w T

Informal communications coexists with formal but may skip hierarchical levels,
cutting across chains of command to connect virtually anyone in the
organization.

formal
informal
vertical
horizontal
lateral

D onow

A team that uses computer technology and groupware so that geographically
distant members can collaborate on projects and reach common geoals is known as a

_ team,
a. problem-sclving
h. wirtual

¢. technocratic

d. guality circle

e. groupware

what is the proper order of the stages of team development?

storming, norming, forming, performing, adjourrning
adjourning, storming, norming, forming, performing
performing, storming, norming, forming, adjourning
forming, storming, norming, performing, adjouraing
forming, norming, sterming, performing, adjourning

[0 e T T o i ]

control is the use of rules, policies, hierarchy of authority,
Written documentation, reward systems, and other formal mechanisms that
infiuence employee behaviors and enhance performance.

a. Bureaucratic
b. Decentralized
c. Peer group

d. Self

e. Individuality

The budget process is concerned with

whether budgets meet their goals.

how budgets are actually formulated and implemented.
.who gets the budget reports.

how much over— or under-budget the organization is.
what budget the organization is following.
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1.With a public good, Pareto efficiency requires that the sum of individual marginal i

B rates of substitution equal the technical rate of substitution.

ol 2.1t is possible that a technology exhibits increasing returns fo scale, diminishing 4
marginal returns, and diminishing marginal rate of technical substitution.

- 3.A Cournot-Nash equilibrium in price strategies is in fact a competitive equilibrium, h

in which price equals marginal cost, .
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S 9.Suppose » individuals live in a city, and each has gross income y.  Each consumes i

i a quantity z of consumption good, and a quantity x of telephone calls, where the .

prices are 1 and p respectively. The utility fonction of each consumer is

i z‘ixb, a+b=1. Furthermore, each consumer is taxed by amount ¢ out of the

i consumer's gross income.  Find the wiility-maximizing demands for the two goods

- given income, tax, and prices. (1 0%) 7
o 10. A producer of oil owns two kinds of oil fields. The cost function of field F is: _].&

I Cr (q): 2¢°'? | and the cost function of field Gis Cg (q): 2%, where g is the i

i production level.  Find the supply function of thig firm. {10%) ’
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1.Discrete random variable x is described by the probability mass function (PMF)
Pl = K- x, /12 ifx,=0,1,2,3
0 for all other value of x,
What is the numerical valve of K7
(a) 1 (b)5/12 : (c)3/8 (d) not enough information.

2.Table 1 is a contingency table (cross-tabulation) for policy attitude by sex. If you
try to answer the question: “Is policy aftitude independent of the respondent’s sex?”
Which method will you choose?
(a) chi-square test (b) regression  (c) two-way ANOVA  (d) none of them.

Table 1: Cross-Tabulation for Policy Awareness by Sex
Attitude toward XX policy Men Women Total
Positive 50 10 60
Negative 15 25 40
65 35 L 100
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(1) ZAFEFO AR ERERE 7 (%)
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2 3 HRAEREEAEER

FER ANB I R
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(1) EEIHZeR TR TR E: 7 (2%)

(2) RT3 5~ 7 ZHENRBRRET 7 (8%)
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